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PART A — (10 x 2 = 20 marks)
1. - What is Pulse Amplitude Mo_dixléti_on? ’
~ . ' 2. What is the main difference between DPCM and DM? -
3. | S_tafé Nyquist pulse shape cxjiter.ion.. ‘
4.  What is meant by correlative éoding? z
. 5. What is the bandwidth efficiency: for QPSK modulation scheme if
En/No=11.2 dB? ' ' '
6. Whatis the advant;ge of BPSK over BFSK?
— 7. Define discrete memoryless channe‘l..

. 8. 'Whatis linear block code?
9. - Whatis meant by direct sequence? .

10.  Define processing gain and jamming margin.
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'PART B—(bx16= 86 marks)

@) What is meant by samphng'7 Explaln flat samphng process with

neat diagram. ’ ‘ : (%)

(i) Whatis meant by compariding? Explam /1 “law companding. . (5) )

(iji) Draw the block diagram of adaptive delta modulatlon systems and

explam each block in detail. - o (6)

Or
( Draw the block dlagram of PCM system and e‘cplam the function of
' each block. ' _ - - (10)

(i) A PCM system uses a uniform quantizer followed by a 7 bit binary'

encoder. Determine the output SNRq when a-sinusoidal modulating

wave of frequency 1MHz is applied totits input. ' (6)
(). State and prove any two properties of matched ﬁlter ' 5) -
(i) Draw the block dlagram of blnary base-band pulse transmisgion
system and explain. : : (D
(111) Explain eye pattern with neat diagram. =~ ) - (4)
Or

@) - Wlth neat block diagram explain modified duobinary sagnahng'

scheme Wlthout and with precoder. (8)

(i) Draw the block dlagrarn of adaptive equahzatmn and explain in
detail. S _ o _ ' (8

Explain with block diagram the coherent binary FSK transmitter and
receiver. Also derive its probability of error.

Or

Draw the block dlagram of_coherent QPSK modulatlon techmque and-

explam with signal space diagram. Derlve 1ts probablhty of error.

@) Con31der a linear block code w1th generator matnx in systematic

form as R . . , 2+2+4+2)
11 01 000
G- 0 -_1_ 1 0100
11110010
1010001
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(1)_ Determine the parity check matrix in systematic form. -

(2) Determine the minimum distance of the code.

- (3) Draw the encoder and syndrome calculation circuits.

'(4) Calculate the syndrome for ‘the, rec:_eived Veétor» ,.

r=[1100011].

Explain Viterbi decoding algorithm for convolution code. ()
. Or |
The generator poiynomial of a (7, 4) cyblic code is g(X ) =1+ X+ X3

(1) Find parity check polynomial

(2) Find the generator and parity check matrix in systematic
form. :

(3) Draw the encoder and sy ndrome computatlon circuit.
. (2+6+4)

What is trellis coded modulation? Explain. 4

Draw the block diagram of direct sequence spread spectrum.

‘technique with coherent BPSK and explain. - . B (10)

Explain why a maximal length L-stage linear feedback ‘shift -
register can produce a PN sequence with a period not greater than
2L-1. < e

Or . <

Explain frequency hopped spreéd spectrum system with neat block
diagram and also explam how several symbols are transmitted on each
frequency hop? :
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